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-5.2

10 a =7

d =3

n =8

an = ?

as =a+(8 -1)d
=7 +7x3

=7 +21

-28

⑪a =

=18

n =10

d =?

&10 =0

or a+(10 - 1)d =0

or -18+9d=0

or 9d=18

or d =1,
er d =2

⑪ d =- 3

n
=18

an =- 5

&18 = =S

or a+(18-1)d = - S

On a+17(- 3) = - 5

or a - S1 = - 5

or a
=51-5

or a =46
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W a=- 18.9

d=2.S

an =3.6

m=?

an =3.6

or a+(n-1)d =3.6

or -18.9 +(n -1)2.5 =3.6

or (n -1)2.5 =3.6 +18.9

or (n=1)2.5 =22.5

or m-1=

or n - 1 =9

or m
=9 +1

or n
=10

W a =3.5

d =0

n=105

an =a+(n -1)d

a
+0s

=3.5 +(105-1)0

-3.5 to

=3.5

20 10,7,4, ----

a =10

d =7- 10 =- 3

an =a+(n-1)d

or a30 =10 +(30 -1)(-3)
=10 +2973)
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or az0 =10-87

or azo = - 77

Ans. - C

⑪ - 3 -5,2 ----

a =- 3

d =- - 73)

or d =- z +3

or d=

am =a+(n-1)d

or a11
=

- 3 +(1 1 -1)-
2

= -3 +2x1

=

- 3 +25

-22

Art - B

30a =2 - P

az =26

or a+2d=26

or 2 + 2d =26) usingequation()
or 2d =26-2

or 2d=24

or d =24
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or d=12

az =a +d

=2+12

=14

⑪az =13 =a+d =13 -0

an =3
=a+3d =3 - 4

subtracting equationD from N
a+3d - a +d) =3 - 13

or aa +3d-/a - d = - 10
or 2d =

- 10

or d=

or d =- S

Putthevalue of a inequationD
a - 5 =13

or a =13+5

or a =18

az
=a+2d

=18+275)
=18 -10

-8

⑪a =S - Q

ay =q

or an =1

or a+3d=
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or s+3d=(usingequation()

or 3d =1 - 5

or 3d =to

or 3d =1
2

or d =5,51

or d=3
2

as =a+d

or 22 =5+E

or ac =3 or 82=.6

az =a=2c
1

or az =5+2x21

or as =5+3

or az =8

⑭a =- y - 0

66 =6

or a+Sd =6

or =4 +Sd=6 (usingequation()
or Sd =6 + 4

or Sd=10
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or d =12
⑤1

or d =2

ac =a+d

or a2 = - 4 +2

or ac = -2

as =a+2d

or az = - 4 +2x2

or az =- 4 +Y

or 03 =0

an
=a+3d

on ay = - 4 +3x2

or ay =- 4 +6

or ay =2

as =a+4d

or as =
- 4 +4x2

or as = - 4 +8

or as =4

④az ==38 =a+d =38 -P

a =

- 22 =a+Sc=- 22 - N

subtracting equationI fromN
a+Sd-(a +d) =- 22-38

or a+Sd-a - d =- 60

or 4d = - 60

or d =- S
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or d = - 15

Putthevalue of d inequation
a +(- 15) =38

or a
=38 +15

or a
=53

az =a+2d

or az =53+2715)
or az =53-30

or az
=

23

ay =a+3d

or ay =53+3)- 15)

or ay
=53-45

or ay
=8

as
=a+4d

or as =53 +4(15)

or s
=53-60

or Gs = - 7

4. 3,8,13,18, -----

a =3

d=8- 3 =5

Let thenthtermbe 78

an =78

or a +(n -1)d =78
an 3 +(n - 1)5 =78

or (n -1)5 =78 -3
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or (n -1)5 =7S

or n -1 =5
or n =15+1

or n
=16

... 16th term is78.

50 7,13,19, ----, 205

a =7

d =13-7=6

Let thenumber of terms be m
... an =20S

or a +(n -1)d=20S

or 7 +(n -1)6 =20S

or (n -1)6 =205 - 7

or (n -1)6 =198

or n - 1 =133

or n - 1 =33

or n
=33+1

or n= 34

...Number of terms=34

⑪ 18,15,13, -- --,(-47)

a =18

d=15- 18

or d
=2 - 18
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or d =A536
2

or d= -E

Setthenumber of termsbe i
... an = - 47

or a + (n -1d=- 47

on 18 +( -1)() =- 47

or (n-1)(2) =- 47 - 18

or (n -1)(-) =- 65

arm -1 =- 55 x (5)1
or n =1 =26

or m
=27

... Humber of terms =27

16. 11,8,5,2, -----

a =11

d =8 - 11 =- 3

Letthe ntltermbe (-150).
...an =- 150

or a+(n -1)d =- 150

or 11 +(n -1) (3) =- 150

or (n-1))- 3) =- 150 - 11

or n - 1 =-
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or n =2 +1

or m = +3

or m==

Since n isnota positiveinteger.
...-150) isnota term of the givenA.P.

7. Let'be thefirstterm and 'd"be the

common difference
... a1 1

=38 =a +10d=38 -D

and a 16 =73 =a +1Sd=73 - N

subtractingequation D from equation N
a +1Sd - (a +10d) =73-38

or a+ 15d-/a-10d =35

or 5d=3S

or d =357
51

ve d =7

Putthevalue of d in equation
a +10x7 =38

or a +70 =38

or a=38-70

or a
=

- 32

... 231 =a+30d

= -32 +30x7

=- 32+210

=178
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8. Let 'be the firstterm and 'd' be the

common difference
n=50 (given)
az =12 =a +2d=12 - 4

aso =106 =a+49d=106-

subtractingequation D from equation
at49d-(a +2d) =106-12

or 6+49d-/a - 2d =94

or 47d =94

or d =I
or d =2

Put thevalue of d in equationa
a+2 x 2 =12

wer a +y =12

or a
=12- 4

or a =8

...a29 =a+28d

=8+28x2

=8 +56

=64

... 29th term is64.

9. Let'be thefirstterm and "d' be the

common difference.
... az =4

=a+2d =4 - D

and a= -8 =aF8d
=

- 8 - N

subtracting equation D from equation N
a +8d-(a+2d) =- 1 - 4
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or a+8d-/a -2d =- 12

or 6d = - 12

or d=-k22
-1

or d = -2

Putthevalue of d inequationI
a +2(2) =4

or a - 4 =4

wra =4 +4

or a =8

Letthe nthtermbe zero

...an =0

or a+( - 1)d =0

or 8+(n -1) (2) =0
or (n -1))- 2) = - 8

or n -1 ==I

or n
=4 +1

oh n =S

:Itstermiszero.

10. Let'be the firstterm and 'd' be the

common difference
... a17 =a10+7

or a +16d=a+9d+7

or a +16d - G - 9d =7
or 7d =7

or d =E, 1
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or d =1

... Common difference =1

11. 3, 15,27,39, ------

a =3

d=15 - 3
=12

Letthe nthtermbe 132 more thanthe 54th

term.

...an =agn +132

or a+(n -1)d =a+53d +132

or a+(n -1) 12 =a +53 x 12 +132

Dividing bothsidesby 12

n-1 =53+11

or n -1 =64

or m =64 +1

or m=65

..65thtermis132 more thanthe set term.

of the two A.P.'s be12. Letthefirsttimebe thecomee

diffference -

... A100
- 2100 =100

or A+99d-(a +99d) =100
or A+9/9d-a - 94d =100
or A-a =100 - 4

A100- 1000
=A +999d - (a +999d)
- - /- A +999d-a- 999d
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= A - a

=100 (usingequation ()
... The difference betweenthe 100thtermsis
100.

13. Three-digitnumbers divisibleby 7are

105, 112, 119, 126, ----,994

az- a1=112- 10S
=7

az - ac =119 - 112 =7

an - 2z =126 - 119 =7
-...

-.......

SinceGk+1-ap issame for all thevalues
of k
... 105, 112,719,126, ----,994 form an A.P.
witha=10s and d=7

Letan =994

...a +(n -1)d=994

or 105 + (n -1)7 =994
or (n-1)7 =994-10s

or (n-1)7 =889

or n -1 =2
+27

or n =127 +1

or n =128

... 128 three-digitnumbers are divisibleby 7.

14. Multiplesof 4 lyingbetween to and 250 are
12, 16, 20, 24, 28, -----, 248

az - a1
=16 - 12 =4
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az - az =20 - 16
=4

an -az =24 - 20 =4
---------

- -

SinceOk+1-8 is same for all the values
of k.
... 12,16,20,27,----, 248 form an A.P. With
a =12 and d=16

Letan =248

or a +(n -1)d =248
or 12 +(n -1) y =248

or (n-1)4 =248-12
or n -1 =9
or m =59+1

or i=60

... so multiplesof " lie between10 and 250.

15.63,65,67, -----

a =63

d =65 - 63 =2

3, 10,17, -----

A=3

D =10-3 =7

am =Am (rgivers
or a+(n -1)d =A +(n-1) D

or 63 +(n -1)2 =3+(n -1)7
or 63 -3=(n - 1)7 - (n -1)2
ver 60 =(n -1)(7 -2)
or 60 =(n -1) 5
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or m - 1 =I

or m=12 +1

or m =13

... For m = 13, the nthtermsof two givenA.P.'s
are equal

16. Let 'a'be thefirstterm and 'd'be the

common difference
:..az =16

=a +2d =16 - 0

and a 7=as
+12

or a+0d=a+4d +12

or a+6d-a - 4d =12

Or 2d =12

or d =E,

or d =6

Putthevalue of d inequation I
a +2x6 =16

or a +12 =16

or a
=16-12

or a
=4

...a1
=a=4

ac =a +d=4 +6 =10

az =a
+2d=4 +2x6 =16

an =a+3d =4 +3x6 =22
.....

-..

:. A.P. is4,10,16,22, ------
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17. 3,8,13, -----,253

a =3

d =8 - 3 =5,l =253
with term from theend =l - (n -1)d
... 20th term from theend=253-20-1S

=>253- 19xS

=253-95

=158

18. Let 'be the firstterm and 'd'be the

common difference.
an +a8 =

24

or a+3d +a+7d=24

or 2a +10d =24

gividing both sidesby 2

a+5d =12 -

as +a1o
=44

or a +5d +a +9d =44

or 2a +14d =44

Dividing both sidesby 2

a+7d=22 - 4

subtracting equation D from equation N
a +7d-(a +Sd) =22 - 12

or a +7d-A - Sd =10

or 2d =10

or d =E,
or d =5
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Putthevalue of d inequation
a+5x 5 =12

or a +25 =12

or a =12 - 25

or a =- 13

A

-..a1 =a=

- 13
...

az =a
+d =- 13+5 =

- 8

as =a+2d =- 13 +2x5 =- 13+10 =- 3

... Firstthree terms of theAPare-13, -8, -3, -------

19. Salary in1995 =E5000

Salary in1996:5000+200=ES200

Salary in1997 =5200 +200 =E5400

Salaryin 1999 =4022=ES600
-.........

&2 - a 1 =5200 - 5000 =200

as -a2 =5400 - 5200 =200

Gy -23 =5600 - 5400 =200
-............

-..........

Since ap+1-ah issameforall values of ki
... 5000, 5200,5400,5600, ----- form an A. With
a=5000 and d=200.

Lettheincomebe E7000 in the nthweek.

:.ar=7000

or a +(n- 1)d =7000

or 5000+(-1)200 =7000

or (n -1)200 =7000 - 5000

or (n-1)200 =2000

arn- 1 =to
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or n-1 =10

or m=10+1

or n =11

.
The incomeis7000in the year 2005 (1995+11-1)

20. Savinginfirstweek=ES
Savinginsecond walk5+1.75 = E6.75

Savinginthirdweek=6.75+1.75= E8.50

Saving in fourth week=8.50 +175= E10.25
-- - - - ......

--....

22 - a1 =6.75 - 5 =1.75

as - ac =8.50 - 6.75 =1.75

ay - Gz =10.25 - 8.50 =1.75
-..

----

Since ap+1-ah issameforall values of ki
:. 5,6.75, 8.50, 10.25, ---- form an APwill a=S
and d =1.75

Auringinthe ntweek=E20.75
... an =20.75

or a+(n -1)d =20.75

or 5 +(n-1)1.75 =20.75

or (n-1)1.75 =20.75-5

or (n-1) 1.75 =15.75

or n- 1 =

s

or n - 1 =9

or m
=9 +1

or n=10

... Savingbecomes E20.75 in the Lot week.
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